p+ bin (GeV) Best fit Stat Syst MG5_aMC+PY8 MATRIX
Ao /Apl(fb/ GeV)
130, 50] 95.8%52 07 52 99.8 £ 82 100.6 + 5.4
(50, 70] 41217 iy A 41.0+34 404+22
(70, 100] 19.33108¢ MRS Hosd 189+ 1.6 18.24 £0.99
100, 150] 6. 61*8 37 0.8 03¢ 7.06 £ 0.58 6.77 £0.38
[150,200] 2361017 o MRS 2.49£0.20 2.36£0.14
200, 300] 0.702 9025 oo e 0.776 == 0.066 0.730 = 0.045
300, 500] 0.118*901 e oo 0.136 = 0.012 0.1240 = 0.0082
500, 800] 0. 0095+8 g0zt o0 ro0a0 0.0143 £ 0.0014 0.01252 + 0.00091
800, 1500] 0.00059 00002 +0.00020 jg e 0000738 £ 0.000083  0.000599 = 0.000050
1/0Ac/Apl(1/ GeV) x 10°
30, 50] 2478007 e % 251421 25.6 + 1.4
(50, 70] 10.66"57 M M 10.32 £ 0.86 10.28 +0.57
[70,100] 5001012 o 013 4.77 4039 4.65+0.25
[100, 150] 1.710+0063 ol T00e 1.78 £0.15 1.726 +0.096
[150,200] 0.6111905¢ o e 0.628 == 0.050 0.602 == 0.035
200, 300] 0.18119014 e o 0.195 £ 0.017 0.186 & 0.012
300, 500] 0.0305 150058 oo o 0.0343 = 0.0031 0.0316 == 0.0021
500, 800] 0.00247 0 00 o0 0.00360 +0.00035  0.00319 + 0.00023
800, 1500] 0. 000152*8 2 O 0.000186 £ 0.000021  0.000153 == 0.000013




